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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

1- Your little brother ------- -- to college or thinking of marriage by the time you come back.

1) will go 2) i1s going 3) will have gone 4) will be going
2- The deficit -- so large, we will probably have to pay additional taxes.

1) grows 2) 1s growing 3) had grown 4) was growing
3- 1tried to persuade him to join me, but in the end I ---—-- :

1) had on 2) give up 3) gave up 4) have back
4- The girl takes -------- her mother rather than her father.

1) to 2) up _ 3) before 4) after
5- To get some money from the insurance company, he had had his store -——-- up last year.

1) blew 2) blow 3) blown 4) blowing
6- The telephone lines were —---- --- when the truck hit the pole.

1) damaged 2) wounded 3) harmed 4) injured
7- Doing a thing over and over again makes it a

1) habit 2) hobby 3) practice 4) performance
8- Make sure you ------- that present carefully or it may get damaged in the post.

1) flourish 2) consume 3) wrap 4) dispatch
9- If you want antibiotics, you'll have to ask the doctor for a -

1) receipt 2) recipe 3) medicine 4) prescription
10- As you’ve arrived late, you’ll have to the time you have lost.

1) make off with 2) make up for 3) make out 4) make for

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Dear Mr de Oliveira, |
Thank you very much for coming to see us in London the day before yesterday. We were very

(—1]-—-) with your interview and would like to offer you the position of Marketing Manager (Antibiotics) for
South America. We would like you to start in three months’ time.

After a one-year (——12—-), we expect to see our market share grow. We are sure you can help usio ( 13—-) this.

The starting salary will be $85.000 p.a. plus car and full medical insurance. In the second year, this will rise

to $90,000. You will also receive regular profit shares based on sales (- 14—--) for your area.

If you would like to accept this offer, please contact me at the above address and we will draw up a contract.
I look forward (——-15—) from you.
Yours sincerely.

11- 1) impressed 2) surprised 3) interested 4) appreciated
12- 1) date 2) occasion 3) stance 4) period

13- 1) assume 2) succeed 3) achieve 4) perform
14- 1) figure 2) statistics 3) account 4) number

15- 1) hear 2) to hearing 3) to hear 4) hearing
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PART C: Read Comprehension

Directions: Read the following two passages and answer the questions by choosing the best choice
(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Operations research, operational research, or simply OR, is an interdisciplinary science which deploys
scientific methods like mathematical modeling, statistics, and algorithms to decision making in complex real
world problems which are concerned with coordination and execution of the operations within an
organization. The nature of organization is essentially immaterial. The eventual intention behind using this
science is to elicit a best possible solution to a problem scientifically, which improves or optimizes the
performance of the organization. The terms operations research and management science are often used
synonymously. When a distinction is drawn, management science generally implies a closer relationship to
the problems of business management. Operations research also closely relates to industrial engineering.
Industrial engineering takes more of an engineering point of view, and industrial engineers typically consider
OR techniques to be a major part of their toolset. Some of the primary tools used by operations researchers
are statistics, optimization, stochastics, queueing theory, game theory, graph theory, and simulation. Because
of the computational nature of these fields, OR also has ties to computer science, and operations researchers
regularly use custom-written or off-the-shelf software. Operations research is distinguished by its ability to
look at and improve an entire system, rather than concentrating only on specific elements (though this is
often done as well). An operations researcher faced with a new problem is expected to determine which
techniques are most appropriate given the nature of the system, the goals for improvement, and constraints
on time and computing power. For this and other reasons, the human element of OR is vital. Like any other
tools, OR techniques cannot solve problems by themselves.

Although foundations were laid earlier, the field of operations research as we know it arose during World
War II, as scientists in the United Kingdom (including Patrick Blackett, Cecil Gordon, C.H. Waddington, and
Frank Yates) and in the Untied States looked for ways to make better decisions in such areas as logistics and
training schedules. After the war it began to be applied to similar problems in industry. It is known as
“operational research” in the United Kingdom (“operational analysis” within the UK military and Ministry of
Defense, where OR stands for “operational requirements”) and as “operations research” in most other
English-speaking countries, though OR is a common abbreviation everywhere. With expanded techniques
and growing awareness, it is no longer limited to only operations, and the proliferation of computer data
collection has relieved analysis of much of the more mundane research. But the OR analyst must still know
how a system operates, and learn to perform even more sophisticated research than ever before. In every
sense the name OR still applies, more than a half century later.,

The origin of OR was linked to -

1) the schedule for training engineers 2) the requirements in the war period

3) the search for new methods in science 4) decision making in complex organizations
We can understand from the passage that game theory -——--—--- ’

1) is a branch of statistics 2) benefits from computer science

3) is the result of queueing theory 4) reduces the risk of using software

The word “proliferation” in line 26 is closest in meaning to --------- ;

1) range 2) analysis 3) increase 4) application

The term “operations research” —

1) is preferred to OR everywhere 2) connects three disciplines

3) is synonymous with “operational research” 4) is commonly used in every English-speaking country
The word “it” in line 26 refers to e,

1) OR 2) operation 3) awareness 4) UK military

OR cannot be considered as a branch of science --—-------—--,

1) related to business management 2) concerned with solving problems

3) heavily depending on human experts 4) growing as a branch of business management
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According to the passage, it is true that
1) OR is not limited to the partial view of a system

2) interdisciplinary sciences are mainly operational

3) operational research is a simple, scientific science

4) management science in general is referred to as business management

Statistical process control (SPC) is a method for achieving quality control in manufacturing processes. It is
a set of methods using statistical tools such as mean, variance, and others, to detect whether the process
observed is under control. Statistical process control was pioneered by Walter A. Shewhart and taken up by
W. Edwards Deming with significant effect by Americans during World War II to improve industrial
production. Deming was also instrumental in introducing SPC methods to Japanese industry after that war.
Dr. Shewhart created the basis for the control chart and the concept of a state of statistical control by
carefully designed experiments. While Dr. Shewhart drew from pure mathematical statistical theories, he
understood that data from physical processes never produce a “normal distribution curve” (a Gaussian
distribution, also commonly referred to as a “bell curve”). He discovered that observed variation in
manufacturing data did not always behave the same way as data in nature (Brownian motion of particles). Dr.
Shewhart concluded that while every process displays variation, some processes display controlled variation
that is natural to the process, while others display uncontrolled variation that is not present in the process
causal system at all times.

Classical quality control was achieved by observing important properties of the finished product and
accept/reject the finished product. As opposed to this, statistical process control uses statistical tools to
observe the performance of the production line to predict significant deviations that may result in rejecting
products. The underlying assumption in the SPC method is that any production process will produce products
whose properties vary slightly from their designed values, even when the production line is running
normally, and these variances can be analyzed statistically to control the process. For example, a breakfast
cereal packaging line may be designed to fill each cereal box with 500 grams of product, but some boxes will
have slightly more than 500 grams, and some will have slightly less, producing a distribution of net weights.
If the production process itself changes (for example, the machines doing the manufacture begin to wear) this
distribution can shift or spread out. For example, as its cams and pulleys wear out, the cereal filling machine
may start putting more cereal into each box than it was designed to. If this change is allowed to continue
unchecked, product may be produced that fall outside the tolerance of the manufacturer or consumer, causing
product to be rejected. By using statistical tools, the operator of the production line can discover that a
significant change has been made to the production line, by wear and tear or other means, and correct the
problem — or even stop production — before producing product outside specification. An example would be
the Shewhart control chart, and the operator in the aforementioned example plotting the net weight in the
Shewhart chart.

The main purpose of the first paragraph is to explain ------=------ .

1) the work of two SPC analysts 2) the historical development of SPC

3) Shewhart’s contribution to statistics 4) a manufacturing process during the 2™ World War
The Shewhart control chart ---—------- ;

1) was purely theoretical 2) is a type of statistical tool

3) can be considered as a production line 4) functions as a table of specifications

The word “instrumental” in line 5 can best be replaced by ---—------- A

1) active 2) patient 3) interested 4) influential

According to the passage, the SPC method --------e--- ;

1) develops designed values

2) is a quantitative method of processing

3) is concerned with variation in the weight of products

4) employs both controlled and uncontrolled observation
Statistical process control can contribute to quality control by .
1) statistically analyzing variances 2) packaging the finished product

3) primarily changing the production process 4) increasing the tolerance of the manufacturer
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28- The word “its” in line 23 refers to ---=ce-ae,

1) machine 2) process 3) distribution 4) manufacture
29-  The statistical tools in SPC -,

1) form a set of methods 2) were first introduced by Deming

3) were developed to gather similar data in nature  4) help continue or discontinue production
30-  According to the passage, it is NOT true that -———-- -

1) variances fall into two categories

2) wear and tear is one source of variation in weight

3) net weights should be distributed across boxes

4) an increase in weight may dissatisfy the manufacturer
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